% ‘ . O E drei Briiche, Deikmal, Operationsreihenfolge mit
Klammern

Name: Datum: Ergebnis:
3(2,2—%)= (§+§)+3:
(3_%)X§: 5(4,3-5,1)=
(5—%)X2,4= (6+%)+4=
(3+5,1)><%: (4?7_4?7)+2:
5(3,6—§)= 1_30_175)+ _
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drei Briiche, Deikmal, Operationsreihenfolge mit

Klammern
Name: Datum: Ergebnis:
117 72 101
32,2 — - — +-)+3=
( ) 20 ( ) >0
L3038 54,3-5,1)=(-4)
C=P*377
1 57 12 21
5—--)x24= — 6+—)+4=—
G- x24=3 ©+3)#4=1
1 27 47 47
+51)x == — — ——-)F2=
3 21 10 15 5
53,6 — =)= — — = —)+5=(—=

www.snowmath.com



https://www.snowmath.com

